## Solving Rational Equations Part 2

May-24-19
9:46 AM

## PRE-CALCULUS 11

RATIONAL EXPRESSIONS \& EQUATIONS SOLVING RATIONAL EQUATIONS PART 2
A. Definitions

1) rational equation: an mathematical equation that contains rational expressions.
2) extraneous root: a solution to a rational equation that when checked does not satisfy the original equation.
B. Solving Rational Equations

$$
<_{1}^{-12}-3
$$

$$
\begin{aligned}
& \text { a) }\left[3+\frac{1}{x}=\frac{4}{x^{2}}\right] \\
& 3 x^{2}+x=4 \\
& 3 x^{2}+x-4=0 \\
& \left(x+\frac{4}{3}\right)\left(x-\frac{3}{3}\right)=0 \\
& (3 x+4)(x-1)=0 \\
& x=-\frac{4}{3}, 1
\end{aligned}
$$

$$
(x-3)(x-2)
$$

$$
\text { b) }\left[\frac{x+2}{x-3}=\frac{x-1}{x-2}\right] \quad X \neq 3,2
$$

$$
(x-2)(x+2)=(x-3)(x-1)
$$

$$
x^{2}+2 x-2 x-4=x^{2}-x-3 x+3
$$

$$
x^{2}-4=x^{2}-x^{2}-4 x+3
$$

$$
-4=-4 x+3
$$

$$
\frac{-7}{-4}=-\frac{4 x}{74} x
$$

$$
x=\frac{7}{4}
$$


c) $\frac{3 x+1}{x^{2}-1}=\frac{-x}{x+1}$

$$
\left[\frac{3 x+1}{(x+1)(x-1)}=\frac{-x}{x+1}\right]
$$

$$
3 x+1=-x(x-1)
$$

$$
x^{2} \frac{3 x}{3 x}+1=-\frac{x^{2}}{+x}+\frac{x}{x^{2}}+x
$$

$$
x^{1} \quad x^{2}+2 x+1=0
$$

$$
(x+1)(x+1)=0
$$

$$
x=\frac{-1}{6 x+c d}
$$

$$
=-1 \quad \text { Extraneous }
$$

Root
No Solution

$$
\begin{aligned}
& \text { d) } \frac{x}{x-3}=\frac{-6}{x^{2}-8 x+15} \\
& \left.\int_{-8}^{15} \int_{-3}^{-3}(x-3)(x-3) \frac{x}{x-3}=\frac{-6}{x^{2}-8 x+15} \quad \frac{-6}{(x-5)(x-3)}\right] \\
& x(x-5)=-6 \\
& x^{2}-5 x+6=-\frac{6}{+6} \\
& -3 \int_{-5}^{6}<-2 \\
& \begin{array}{l}
x^{2}-5 x+6=0 \\
(x-3)(x-2)=0
\end{array} \\
& x=\beta, 2 \\
& \text { Extraneous } \\
& \text { Root. } \\
& x=2
\end{aligned}
$$

Assignment: Pg. 583 \#6, 7, 9, 10

